
SLIDING DOOR EC LOCK

WAREHOUSE PARTITIONING

88754501 ver. 003 PROTECTING PEOPLE, PROPERTY, AND PROCESSES.  |  troax.com

ASSEMBLY INSTRUCTION
– JUST FOLLOW ME

KIT 36907610, 36907650, 36907630

1/7

INTERACTIVE
ASSEMBLY

INSTRUCTION

3D

https://instructions.online/?id=2345-88754501


13mm

Sliding door Euro Cylinder Lock

www.troax.com

A
rt

 n
o

: 8
87

54
50

1 
ve

r. 
00

3 

2/7

Kit 7650 MHL UX EC Sliding door 36907650

5 mm

Kit 36907610, 36907650,3697630

Kit 7610 MHL UX EC Slide 
door 36907610

3 mm

Cover plate EC 36901699

36
90

16
99

Bag for Kit 7650 88697640

Bag for Kit 7610 88697610

x1 x1 x1 x1

x1 x3 x1
x1

x1 x1 x2x2

x1 x1

x3
M8x55

x3
M8x45

x5
M8x35

x2
M8x35

x1
M8x20

x2
M6x25

x2
M6x8

x3
M8x20

x4
4,8x16	

x1 x2 x2 x28
M8

x15
4,2x13	

x4
M8x20	

x2
M8

x2
M5x16

x2
M8x35

36
90

05
89

36
90

05
49

36
90

14
29

36
90

14
39

89
20

00
00

89
05

10
37

36
90

14
19

20
50

03
50

89
05

00
49

89
05

05
25

89
05

01
36

89
05

01
56

36
90

17
29

89
20

00
13 89

05
15

00

89
20

01
22

36
90

17
49

89
05

15
30

89
05

00
44

89
05

00
50

89
05

00
42

89
05

01
38

89
05

01
43

89
05

01
89

89
05

00
34

89
05

01
57

20
50

03
20

89
20

00
12

89
05

02
66

89
05

02
90

89
05

05
25

26
50

41
08

4 mm

29
50

70
40

88650331Bag for handle slide

M5x16
x2

x1 x1
x1

29
50

44
00

x2

x2
M8x35

89
05

01
38



www.troax.com

A
rt no

: 88754501 ver. 003 

3/7Kit 36907610, 36907650,3697630

3
13mm

Kit 7650 + 
Bag for kit 
7650

1 2 Bag for 
kit 7650

M8x35 M8

13mm

M8

M8x55

M8x45

M8x35

A B

C D

M8x45

M8x35

M8x55

M8x55

M8x35

M8x45

M8x55

M8

M8x35 M8x20

Kit 7650 + 
Bag for kit 
7650 13mm

5 mm

4

A

B

C

D

DCover plate EC 36901699



www.troax.com

A
rt

 n
o

: 8
87

54
50

1 
ve

r. 
00

3 

4/7 Kit 36907610, 36907650,3697630

10

13mm

5 mm

5

6

Bag for kit 7650Bag for kit 7650

M8x20

A

B

C

D

7
Bag for kit 7650 > 3000

UX450

Ø10mm

125mm
15mm

9

Kit 7650 + 
Bag for kit 
7650

M8

M8x45

M8x35

M6x25

13mm

M8

Bag for kit 7610 Bag for kit 7650

M8
13mm

8

UR350



www.troax.com

A
rt no

: 88754502 ver. 003 

5/7Kit 36907610, 36907650,3697630

11

Kit 7650 + 
Bag for 
kit 7650

Kit 7610 + 
Bag for 
kit 7610

15
4mm

Bag for kit 7650

13mm

Bag for kit 7650

M6x8

5 mm

M5x16

12

13

14

7/7

EC
  22mm



www.troax.com

A
rt

 n
o

: 8
87

54
50

1 
ve

r. 
00

3 

6/7 Kit 36907610, 36907650,3697630

Kit 7650

13mm

16

M8

M8x35

13mm

17

Bag for kit 7610 
+ Cover plate EC

M8

M8x35

18

3 mm

Kit EC

6Nm



www.troax.com

A
rt no

: 88754502 ver. 003 

7/7Kit 36907610, 36907650,3697630

Kit 7630 MHL UX EC Slide 
door 36907630

Bag for Kit 7630 88697610

x1 x1 x1 x1

x15
4,2x13	

x4
M8x20	

x2
M8

x2
M5x16

x2
M8x35

x2
M8x3589

20
00

00

89
05

10
39

36
90

14
19

36
90

14
99

20
50

03
50

89
05

00
49

89
05

05
25

89
05

01
36

89
05

01
56

Kit 7650 + 
Bag for 
kit 7650

Kit 7630 + 
Bag for 
kit 7630

15
4mm

M6x8

5 mm

M5x16

14

Kit 7650 13mm

16

M8

M8x35

13mm

17
Bag for kit 7630 
+ Cover plate EC

M8

M8x35

EC
  22mm

18Kit EC

6Nm

89
05

01
38


